Zex ZIEHR (J\REETHTET 945)

72 D P (L BB i\ % BT BT BT 945 2 i
| i K| - BkFpav)-biE - BB - ofth( )
T | L 28
i B T R 280 ni
;; 7T 377 mi
fei g S PEJE  1850~1989 4-tH

SRk 30 AEEE

TEE T EE 1. % #H  2.[F 4
Wi - Sk 72 H A LA A% N (EHoz - Ly )
i B R EE A ERMNT &g B 11 M/ H
3 WA 20 AN L4 12H2 M FHEk: M
M O Z ofth ( MmN 1,800 /A )
ok N e A - ok - Zofh
S~ HFAHE (MAFE - AETREE - ENRESE )
= [cpeseem ] - w m =0
| & = | [BLAE] Z Ot
w| oy o= o <o hmz] - Fom
woom o = HoOA - 4T [ ofh (BRiEAZR) |
gealy | H o[
G oL
KM W (EW) £
HWRFEGERT . FHEERLIAICBTTOOIEMBEETSOME T, (F
ZOMEE | BT TORMAL )

JKOHIEE « RE BT H Y, R EAS,
U7 4 —2FeMm (fFERH)




o frfee e
R 1 5 (B 1m)
i B
M 6640 e 6640
/ 5
e
FET945 ok
2F
Ly ¥R M=
7.5% 7. 58
6
P9 : 14. OFF 5
* / 46. 25mz 9
. | [B] [ B ) =
7O —— 3 —
: = 4 Si=
8 [ & 8 I
5 5
> #
M=E6E 4 m=6E
% ) mE8H =] ﬁiiwq
o}
—
FVE
rAv1 rqV1
3050 U 3050
4 B o -
s I - o
. e 8 Em6 X
0 0
1600 1600
BF
FoRE | 9
&
B
1 = = 3
0 B 5 =
0 8 |
1
5 ; =6 mon| M=E8 R
:
PRIl 4%t 1 I —
n=e| HH
YERI6E |
|
Tnl Eom =
12350
12350
&Y : 1F3LDK: 111.4m2 33. 765F .
IF2% FFF218.83m2 66. 315
276.25

£k : IF - 2F EFE377.83m2 114. 49FF




1 PETESR 14 ¢




